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"aN said: - 991D TRIYT ION2 N7 AN AN
Here we are discussing the case of a tree that is standing, etc.

OVERVIEW

»ax explained that the npY?nn between 0°n2m "2 is in a case where the 12°K
was °"1772 and the 711 was 1"772. They argue whether we say 202 1911 70
17P°y, and it has no relevance to the ruling of X701 27 that one is 211 by y¥2
"2 71p, even if there was no "7 2p» 2"V anan.

It is apparent' that 807" MO in our X3 is as he quotes it in this 7127
2ninnn, and he is not 0713 as we are, X701 2772 329 RY V"7 °"173, therefore
MooIN assumes that the Xn»"2 of "> 1°1 2"V 111 277 has no connection to the
17 of *X70m 27, and the Xn™"1 is not discussing at all the concept of 2"v 7m
"7 OWpn, but rather only if 17P°Y N2 1911 *7W; whether the 7p°Y can confer to
the 711 the status of a >"71.

mooIn asks:

— 2495 NTON 29 NTON 2972 19997 9199120 19D NN 29047 PNHYY 129249Y NN
The 5''9 finds this answer of »2X astounding! It would have been better to
say as the X713 assumed originally that 71271 °27 argue regarding s'R7om 29
ruling’, and &7om 2 follows the opinion of 939, so at least X701 27 can point to a
XN who agrees with him that '7 23pn 3°¥2 R >"1792 -

— NTON 299 HUPT 19V Y3 NTON 2972 179NN NIMOY NYT 9ANT NIV
However, according to s' 2R answer; the way he interprets the np1onn
between 11271 27 that their argument has no connection to the ruling of 239
x7en, and their npY>mn is (only) whether the trunk® confers upon the branch
the status of a °"717, there is certainly a difficulty with the position of 29
RTOM, who maintains that a '7 0P is not required in a >"77 -

— NTON 295 RIT (0w x,7 1np%) PN JIPY RNIA NIIN NNT
For there is a Xn>s92 later on in ?77:7 P79 which states not like X707 29 -
- NINY 93 9IN2 NI NIVUN NY¥NRY PITA NN 29 1929 S)YaT

' This assumption is based on the 7"7 of M5oIN, but not on MoIN question (see WK NAIL).
2 This is the entire thrust of s answer.

* That '7 opn A"y A YA KL 0.

* Which may (or may not) be a "7 21pn.
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Where the 1229 and »''1 argue in that Xn>72 in the case where he threw an
object higher that ten 2°15v and it landed in a minuscule crevice -

— 74 0YP %22 YY NI 51 BIYWAY PPPIN 1PIINT DIVN 25909 VINM Y294
Where »''9 is 21 since he maintains the rule of *2"»w 7P and it is
considered as if it rested on a *'7 2p» -

— 0902 ©90M

and the 2 2517 say that he is 9D, since they do not say 2°>wi% 1ppIn so therefore
there was no "7 Dpn A"y 1MIn

— PN MY 7T DIPNA 11YAT Y1 NI NN
It is evident therefore that all (312 »"9) agree7 that a '7 2p» is required

for a proper 1M1 in a >''719. How can then X707 27 maintain that a '7 2% 3"y 737 is
not required in a >"77? Therefore it would have been better to assume as the X3 did in
the &"177 that X701 27 agrees with °271 who does not require a (°"7172) '7 DPn.

ND0IN answers:

— NN MY 7T DIPN )3r¥a KDY RTDN 297 RNYVLT 99D U XYY
Perhaps one can say that s'7o1 21 reason for not requiring a 3"V 7mn
ST T PR is -

- %11 @191 233 5 NN YN ST NIYNT NN KA 1ININRT DIVN
because we maintain the principal ‘that a house is considered as if it is full
of articles’ and therefore it is considered as if it is resting on a '7 2yp%

— 71 5Y 74 99Na XNAPYW ¥a HMHa baN
By a wall, however, we require that the crevice should contain an area of

DndY 7''YT, because X707 27 agrees that a '7 Dpn A"V 1M1 is (always) required, and
since the 1327 maintain that we do not say 2°9wn% Pppin, there is no "7 21pn, for the HM> is
completely closed'’, therefore he is Mws.

> This is according to 11" X [27 MKX] °"7 (mentioned [also] previously on 2.7). In the actual Xn™M2 it
merely states 21 n"9 without any explanation (which may not disprove X70r 27).

® This follows the interpretation of the >"7 in the previous w"»y ,757m 1"7 3,7 '010 (See footnote # 2 there)
that the M is >"71% w991 and is considered as 7 °"7112 "7 ™. See “Thinking it over” # 2.

"1t is just that 1" maintains that since 2°5wn PpRIN so there is a "7 23pn 3"y Ama.

¥ mooin is using the concept of "7 X917 X132 XN°2 even where it is not a 77P» *"71, as is the case of 27
X701, where the 71p was nnX ' m2i. See (however) 187D 7"7 X,0¥ 1Y MdOIN that it is possible to assume
X°917 181D 82 even if there is no roof.

’ mooin here is following (somewhat) in the view of 17°K2 1"7 2,7 nwoIN, that X701 27 requires a A"V nnIn
(7"772) "7 PR, not like the X"2wA in that Moo,

19Tt seems that 7 X°17 1813 X2 accomplishes that an article at rest (anywhere) in a >"77 is considered as
if it is resting on a '7 0pn (even though it is ¥°p% 7v X>917 1812, which would make it X°917 1813 even above
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SUMMARY

MoDIN assumes in his X°wp that X707 27 maintains that in a "7 a A"y 7mn
"7 0)pn is not required. The Xn»12 of w"> 72 AN 799M seems to indicate
that everyone maintains that even °"772 a "7 2pn A"Y 1M is required.
According to 2% who maintains that the Xn>72 of w"> 17 is not involved
with "7 @pn A"V 7n17, then X701 27 has no one to support his view. It would
be better to say that 131271 327 are not arguing about 1911 >7w but rather whether
a '7 opn 2"y aman is required. That way X701 27 would at least have "27 to
support his view.

mooIn answers that X701 17 agrees that in a °"77 a '7 011 1s required. It is
just that a regular "7 automatically has a "7 2171 (almost) everywhere since
"7 X917 181D ’N°2. Only in the case of w"> i1 do the 1327 say that there is no
"7 0pn, since the wall is all closed up, and we do not maintain 2°9w% PPN,

THINKING IT OVER
1. Why would not m»oin agree to learn like the X1°3nK X127 in >"w9?

2. How may one attempt to refute mooIn proof that a "7 @pn A"y AMn is
required from ''w"> 2 mn?'

3. According to X1pon M1dOIN, who does X701 17 agree with?

4. According to X1pon n19on, what did »aX accomplish by saying that the
nP12nn is whether we say 17p°Y 202 11 *7w?

and around the article at rest), however when it rests in a 2m22w M1 which is 21K (actually closed up), then
there is no '7 01pn (see 7N MKR). See 72127 n7w for an alternate explanation.

' See footnote # 6.

2 See x"ow.
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